ST FE X FE

IR A D EB (A M)
= I;f_\jmw - SMTEE | ST 6 8| HEEE Hx
1.2% Ea e =F= 3,264,000| 3,600,000 A 336,000(48,000F x 684
e 16,000 16,000 016,000/ x 1%
WASEE 145,000 290,000 A 145,000{29,000M x 5 £ =m0z
Xffe |EmISERARE 345,000 700,000 A 355,000(5,000M x 694
MIA  |[FEEHE 0 0 0
MU 900,000 100,000 800,000, 2 Ei T s
4 @BEE (g 522,414| 110,000 412,414
&5t 5,192,414| 4,816,000 376,414
FHDER (BEAL 2 )
= I? ERE - amTEE | SFI6EE | avenE BE
1.E%8 |(ZE22E WHEEERE 350,000 250,000 100,000
iEE S E 250,000 250,000 0
HHNEELE 290,000 250,000 40,000
AZ—b+TyTE 100,000 0 100,000
S 300,000| 200,000 100,000
BiRE 1,206,000] 1,976,000 /\ 770,000 [sarsemmsmnramin pers oo
& 439,000| 495,000 A 56,000 [smrzamssmna@mimsxacen
HmEE B3 - AT0 - EALEFIEES 360,000 50,000 310,000
Hh 150 1 B0 400,000 50,000 350,000
YEGE=ZE YEGFIRE 0 0 0
WEBE #%& 30,000 30,000 0
2R - 28E5 95,000 95,000 0
BRE 50,000 50,000 0
2 EHE |EXE BIEE 70,000 70,000 0
EHRESE 80,000 80,000 0
HELE 20,000 20,000 0
KRB = 500,000( 500,000 0
RenBEE 42,000 22,000 20,000
»iB% B EEE 133,500 142,500 /\ 9,000{30,000 + (1,500 x 694)
hEEESE 10,000 10,000 0
HAYEGRE 54,500 57,500 A\ 3,000{20,000 + (500 x 694)
R 200,000( 100,000 100,000
3ENE |AEEEEES 100,000 0 100,000
BESRERS 100,000{ 100,000 0
cERSERE 0 0 0
(LN 25T wvacr 10,000 10,000 0
4 FlEe 2,414 8,000 /\ 5,586
A5t 5,192,414| 4,816,000 376,414




